Confirmation



KMCS-FM Jam Media Solutions, LLC P.O. Box 8216 Glen Ridge, NJ 07028 252 480 4655 mquimby@jammediallc.com

Contract # Date Entered Sales Person Agency % Billing Cycle Revenue Source Agency Revenue Type Conflict 1

12006 04/12/2022 Katz/Christal . 15.00 Broadcast Cash Political

Product Estimate # Contract

People Who PLay by the Rules PAC S2022|POOeple who Play by the Rules PAC|People Who Play by the Rules PAC

04/18/2022 - 05/01/2022

PEOPLE WHO PLAY BY THE RULES PAC C/O KATZ MEDIA GROUP: NY 125 WEST 55TH STREET 3RD FLOOR NEW YORK, NY 10019

| | Station | Date/Time | Schedule | Len | Rate | Qty | Total |
|---|---------|---------------------------------------|----------------------------|-------|-------------------|-----|--------|
| 1 | KMCS-FM | 04/18/2022-04/29/2022 6:00a-10:00a | 3xMTWThF All Weeks | 01:00 | 25.00 | 6 | 150.00 |
| 2 | KMCS-FM | 04/18/2022-04/29/2022 10:00a-3:00p | 3xMTWThF All Weeks | 01:00 | 25.00 | 6 | 150.00 |
| 3 | KMCS-FM | 04/18/2022-04/29/2022 3:00p-7:00p | 3xMTWThF All Weeks | 01:00 | 25.00 | 6 | 150.00 |
| 4 | KMCS-FM | 04/18/2022-04/29/2022 7:00p-11:59p | 3xMTWThF All Weeks | 01:00 | 10.00 | 6 | 60.00 |
| 5 | KMCS-FM | 04/23/2022-04/30/2022 6:00a-7:00p | 0,0,0,0,0,3,0 All Weeks | 01:00 | 15.00 | 6 | 90.00 |
| 6 | KMCS-FM | 04/24/2022-05/01/2022 6:00a-7:00p | 0,0,0,0,0,0,3 All Weeks | 01:00 | 10.00 | 6 | 60.00 |
| | | | | | Subtotal | | 660.00 |
| | | | | | Agency Commission | | 99.00 |
| | | | | | Total | | 561.00 |

| Projected Billing | | | | |
|-------------------|------|-------|--------|--------|
| | | Count | Gross | Net |
| April | 2022 | 18 | 330.00 | 280.50 |
| May | 2022 | 18 | 330.00 | 280.50 |
| | | 36 | 660.00 | 561.00 |

Confirmation



KWPC-AM Jam Media Solutions, LLC P.O. Box 8216 Glen Ridge, NJ 07028 252 480 4655 mquimby@jammediallc.com

Contract # Date Entered Sales Person Agency % Billing Cycle Revenue Source Agency Revenue Type

Contract

12007 04/12/2022 Katz/Christal . 15.00 Broadcast Cash

People Who Play by the Rules S2022|People who Play by the Rules|People Who Play by the Rules 04/18/2022 - 05/01/2022 Product Estimate #

PEOPLE WHO PLAY BY THE RULES PAC C/O KATZ MEDIA GROUP: NY 125 WEST 55TH STREET 3RD FLOOR NEW YORK, NY 10019

| | Station | Date/Time | Schedule | Len | Rate | Qty | Total |
|---|---------|---------------------------------------|----------------------------|-------|-------------------|-----|--------|
| 1 | KWPC-AM | 04/18/2022-04/29/2022 6:00a-10:00a | 3xMTWThF All Weeks | 01:00 | 25.00 | | 150.00 |
| 2 | KWPC-AM | 04/18/2022-04/29/2022 10:00a-3:00p | 3xMTWThF All Weeks | 01:00 | 25.00 | 6 | 150.00 |
| 3 | KWPC-AM | 04/18/2022-04/29/2022 3:00p-7:00p | 3xMTWThF All Weeks | 01:00 | 25.00 | 6 | 150.00 |
| 4 | KWPC-AM | 04/18/2022-04/29/2022 7:00p-11:59p | 3xMTWThF All Weeks | 01:00 | 15.00 | 6 | 90.00 |
| 5 | KWPC-AM | 04/23/2022-04/30/2022 6:00a-7:00p | 0,0,0,0,0,3,0 All Weeks | 01:00 | 20.00 | 6 | 120.00 |
| 6 | KWPC-AM | 04/24/2022-05/01/2022 6:00a-7:00p | 0,0,0,0,0,0,3 All Weeks | 01:00 | 15.00 | 6 | 90.00 |
| | | | | | Subtotal | | 750.00 |
| | | | | | Agency Commission | | 112.50 |
| | | | | | Total | | 637.50 |

| 4(4) | Count | Gross | Net |
|------|-------|---------|----------------------------------|
| 2022 | 18 | | 318.75 |
| 2022 | 18 | 375.00 | 318.75 |
| | 36 | 750.00 | 637.50 |
| | | 2022 18 | 2022 18 375.00 2022 18 375.00 |

Printed 04/26/2022 20:28:36 Page 1 of 1

| | Д | PRODUCTION ORDER FORM | ORM | | |
|--|-----------------------|---|-----------------------------|--|-----------------------|
| JAM MEDIA SOLUTIONS | Kwpc | × | KMCS X | 10 Sec 15 | X 30 Sec 60 Sec |
| DATE: 4/15/2022 AE: Katz/Christal CUSTOMER #: | 022 | | 1 1 | CONTRACT: 12006 KMCS # 12007 KWPC # 12007 KWPC # # 12007 KWP | |
| ADVERTISER NAME: EST.# & CO-OP DESCRIPTION: | People V | People Who Play by The Rules PAC | 11 | CART MEDIA ENTERED. 43228 | 92 |
| SCRIPT NEEDED FOR BILLING? | | Z | ΙΠ | 1 | |
| (CHECK ONE) | | | | APPROVAL (DATE NEEDED) | (DED) |
| SCRIPT: | | | | | |
| PRODUCE ATTACHED | | | | CASSETTE/CD TO: | |
| AUDIO DELIVERY: | | | - MOLENATORIA CITAMITO A DO | TO CONTENT | |
| MP3/E-MAIL | x attached | | | NO SOLONIA | |
| ELECTRONIC: [WRN, DGS, etc.) | | | LAST D | LAST DATES AIRED: | |
| | PLEASE ATTACH COPY, 1 | PLEASE ATTACH COPY, TRAFFIC INSTRUCTIONS, DOS, SPOT TAXI TRACKING SHEET | XI TRACKING SHEET | | |
| CART # 43226 | RUN DATES | 4/18/22-5/1/22 ROTATION | 100% NAME/# | NAME# | PWPBTSpottFin |
| SART # | RUN DATES | ROTATION | | NAME/# | 09: |
| SART # | RUN DATES | ROTATION | | NAME/# | |
| ART # | RUN DATES | ROTATION | | NAME/# | |
| ART# | RUN DATES | ROTATION | | NAME/# | |
| ART# | RUN DATES | ROTATION | | NAME/# | |
| | | | | | |

NOTES: Attached please find the :60 spot.

Suttled would radio from Inulas

CANDIDATE ADVERTISEMENT AGREEMENT FORM

| See Order for proposed schedule and charges. See Invoice for actual schedule and charges. | | | | |
|---|------------------------|--|--|--|
| I,, hereby request station time as follows: | | | | |
| IDENTIFY CANDIDATE TYPE STATE OR LOCAL CANDIDATE | | | | |
| ALL QUESTIONS/BLOC | KS MUST BE COMPLETED | | | |
| Candidate name: Dunen Baila | -, for Covernor | | | |
| Authorized committee: People Who Play | By The Rules PAC | | | |
| Agency requesting time (and contact information): | | | | |
| N/A | | | | |
| Candidate's political party: Republican | | | | |
| Office sought (no acronyms or abbreviations): | | | | |
| Date of election: | General | | | |
| Date of election: General General Treasurer of candidate's authorized committee: Deen Piroff | | | | |
| The undersigned represents that: | | | | |
| (1) the payment for the broadcast time requested has been furnished by (check one box below): | | | | |
| the candidate listed above who is a legally qualified candidate, or, | | | | |
| and add to led committee of the legally qualified candidate listed above; | | | | |
| (2) this station is authorized to announce the time as paid for by such person or entity; and | | | | |
| (3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion and other sales practices (not applicable to federal candidates). | | | | |
| THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING. | | | | |
| Candidate/Committee/Agency | Station Representative | | | |
| Signature: | Signature: | | | |
| Name: Dan / Pro++ | Name: | | | |
| Date of Request to Purchase Ad Time: Date of Station Agreement to Sell Time: | | | | |

| for a duration of at least four secon the candidate approved the broadcast or if radio programming. | ds and a simultaneously displayed process; (2) contains a clearly identifiable ds and a simultaneously displayed process; and that the candidate and/or the | pursuant to this disclosure either (1) does not refer photograph or similar image of the candidate rinted statement identifying the candidate, that he candidate's authorized committee paid for the t by the candidate that identifies the candidate, cast. |
|--|---|--|
| Candidate/Authorized Commit | tee/Agency | |
| Signature: | | |
| Name: Daniel K. A. | ang X | THE THE PARTY OF T |
| Date: 4/1/22 | / | |
| | TO BE COMPLETED BY STA | ATION ONLY |
| Ad submitted to Station? Note: Must have separate PB-19 | 1 | received: |
| Federal candidate certification signe | d (above): | No N/A |
| Disposition: Accepted Accepted IN PART (e.g., ad Rejected – provide reason: *Upload partially accepted form, the | copy not yet received to determine s | |
| Date and nature of follow-ups, if any | 44 | m when complete. |
| Contract #: | Station Call Letters: | Date Received/Requested: |
| Est. #: | Station Location: | Run Start and End Dates: |
| ourchased or attach separately. If stat | ion will not upload the actual times | ocuments reflecting this transaction to the OPIF or ally aired, the rates charged and the classes of time spots aired until an invoice is generated, the name be placed in the "Terms and Disclosures" folder in |

Federal Candidate Certification:

ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

| I, Dan Proft | _, hereby request station time as fo | ollows: See Order for proposed | | | | | |
|--|--|---------------------------------------|--|--|--|--|--|
| schedule and charges. See Invo | schedule and charges. See Invoice for actual schedule and charges. | | | | | | |
| Check one: | | | | | | | |
| Ad "communicates a message relating to any political matter of national importance" by referring to (1) a legally qualified candidate for federal office; (2) an election to federal office; (3) a national legislative issue of public importance (e.g., health care legislation, IRS tax code, etc.); or (4) a political issue that is the subject of controversy or discussion at the national level. | | | | | | | |
| Ad does NOT communicate a message relating to any political matter of national importance (e.g., relates only to a state or local issue). | | | | | | | |
| ALL QUE | STIONS/BLOCKS MUST BE COM | MPLETED | | | | | |
| Station time requested by: | | | | | | | |
| Agency name: Vail and Associates | | | | | | | |
| Address: 1187 Wilmette Ave, Wilmette, IL 60091 | | | | | | | |
| Contact: Rob Vail | Phone number: (847) 421-8287 | Email: rangera71@aol.com | | | | | |
| Name of advertiser/sponsor (list entity's full legal name as disclosed to the Federal Election Commission [for federal committees] with no acronyms; name must match the sponsorship ID in ad): | | | | | | | |
| Name: People Who Play By The Rules PAC | | | | | | | |
| Address: 467 Conner Ave Naples, FL 34108 | | | | | | | |
| Contact: Dan Proft Phone number: (312) 446-6488 Email: dan@danproft.com | | | | | | | |
| Station is authorized to announce the time as paid for by such person or entity. | | | | | | | |
| | ers of the executive committee and the bonsor (Use separate page if necessary.): | ooard of directors or other | | | | | |
| By signing below, advertiser/sponsor represents that those listed above are the only executive officers, members of the executive committee and board of directors or other governing group(s). | | | | | | | |
| If ad refers to a federal candidate(s) or federal election, list ALL of the following: | | | | | | | |
| Name(s) of every candidate referred to: | | | | | | | |
| Office(s) sought by such candidate(s) (no acronyms or abbreviations): | | | | | | | |
| Date of election: | | | | | | | |
| Date of election: Clearly identify EVERY political matter of national importance referred to in the ad (no acronyms); use separate page if necessary: | | | | | | | |

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

The advertiser/sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, which may arise from the broadcast of the above-requested advertisement(s). For the above-requested ad(s), the advertiser/sponsor also agrees to prepare a script, transcript or tape, which will be delivered to the station by the log deadlines outlined in the station's disclosure statement.

| Advertiser/Sponsor | | Station Representative | | | | |
|--|------------------------|------------------------|--|--|--|--|
| Signature: Name: Na | | | | | | |
| Date of Request to Purchase Ad Time: 04/08/2022 Date of Station Agreement to Sell Time: | | | | | | |
| TO BE COMPLETED BY STATION ONLY | | | | | | |
| Ad submitted to station? Yes No Date ad received: Note: Must have separate PB-19 forms for each version of the ad (i.e., for every ad with differing copy). | | | | | | |
| If only one officer, executive committee member or director is listed above, station should ask the advertiser/sponsor in writing if there are any other officers, executive committee members or directors, maintain records of inquiry and update this form if additional officers, members or directors are provided. | | | | | | |
| Disposition: Accepted Accepted IN PART (e.g., ad not received to determine content)* Rejected – provide reason: | | | | | | |
| *Upload partially accepted form, then promptly upload updated final form when complete. | | | | | | |
| Date and nature of follow-ups, if any: | | | | | | |
| Contract #: Date Received/Requested: | | | | | | |
| Est. #: Run Start and End Dates: | | | | | | |
| For national issue ads only (not require | red for state/local is | ssue ads): | | | | |

Upload order, this disclosure form and invoice (or traffic system print-out) or other material reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased (including date, time, class of time and reasons for any make-goods or rebates) or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.